-1
63 227
4 6 A 30
102 310 315 318
-n- 270 2- 272
307 309
13 )
> 1 2 1
9
|




25 50%

1%

JAS

13

wt%

14

11

(%)

14

11

11

14

14

13

13




-3 13
t/
124,800 802 | 1,926 1,978 8 260 129,774
123,059 | 3,677 107 444 691 (127,978
38,689 1,829 1,928 757 | 43,203
21 67 4313 598 69: 2413 | 7481
39: 3108 : 3,010 14 112 : 6,890 | 13,173
CR 283 110,162 : 6,511 : 2028 105 543 : 7,368 | 27,000
295 ¢ 4355 : 1 568 108 232 : 3657 10,215
8 15 1,796 | 1,819
5402 [ 6,810 30,450 : 17,281 : 1,507 i 1,210 411 : 52183 [115,254
50 108 : 2566 50 341 7,415 1 10,530
EVA 2,024 | 10,052 638: 1208: 1,429 : 7823 29 { 13,692 | 36,895
2511 1.015: 8,295 932 : 2574 40 : 45,219 | 58,326
8,053 | 3,830: 2294 754 517 9,320 | 24,768
578 | 4,940 9,375 1 8 | 14,902
656 306 : 4,145 285 12,024 | 17,416
687 [ 1,305: 3,065 280 29 274 : 2,847 | 8,487
EVA 1,557 49 | 1,560 826 1 3: 39,463 | 43,459
114 2,019 1,360 : 34,173 | 37,666
5 259 765 89: 3461 | 4,579
82 98 305: 4920: 4,418 : 9844 327 : 3,919 | 23,913
113 119 585 817
234 530 [ 2,445 : 8952 : 13 260 67 69 : 35624 | 61,181
11 61 87 14 425 598
4574 : 1517 147 28 2464 | 8,730
1 377 : 1,590 695 2,840 : 59 302 [ 64,805
1,916 | 1,916
1 2: 2,482| 2,485
2,503 144 35 170: 4,641 | 7,493
6,659 465 | 1,987 : 12,512 646 ¢ 1,212 85 : 25,666 | 49,232
302,512 | 33,062 | 64,177 : 92,203 : 50,518 : 24,130 : 6,832 :380,661 |954,095
13
1%
MSDS
t/
-n- 2-
=1% =0.5% =0.5%
-4
100%




3-4

63 | 227 | 102 | 310 4 5 6 30 | 270 | 272 63 | 227 | 102 | 310 4 5 6 30| 270 | 272
< L & < L &
N N
1.0 1.0
0.5 0.5
0.5 0.5
0.4 0.5
0.1] 0.1] 0.2 0.1] 0.1] 0.2
CR 4.1130.9 35.0
4.1130.9 35.0
0.4 0.1 2.9 0.6 0.1] 3.9
0.5]| 35| 0.2 0.1/ 0.1] 0.1 0.1 29f 04| 26| 0.2 0.1 0.1] 0.1 0.1] 2.9
EVA 0.5]| 35| 0.5 0.1 29f 04| 26| 0.5 0.1 2.9
0.1/ 0.1 0.1 0.5] 3.5 0.2 0.2| 0.2 0.1 3.9
0.1] 0.1] 0.1 0.5] 3.5 0.2] 0.2] 0.2 0.1] 3.9
0.2
06| 4.4
EVA 0.5 0.5
25.0 50.0
0.1] 0.9 0.6 | 4.4 0.2 ] 6.8
0.1] 0.9 0.1] 0.1] 0.2 0.1] 0.1] 0.2
0.1] 0.9 0.2 4.8
2.3|17.7 0.1 0.1] 0.1 0.1 0.1] 0.1

14

11




3-4

63 |227 {102 |310 | 4| 5| 6| 30270 272 310
< ! |
< o~
N
1.0 1.0
0.5 0.5
0.5 0.5
0.5 0.1/2.9
0.1/0.1]0.1
CR
0.4 1.0
0.2 0.1/0.1]0.1
EVA 0.5
0.1]0.1/0.1
0.1]0.1/0.1
EVA 0.5
25.0
0.1]0.1/0.1
0.1]0.1/0.1

14

11




10%

100
100

100
100
100

100%
100%
10%

N

100%

13



12 14
m

11 12

12 14

11 12

14

12

14
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*2

*3
*2

*2

1
*

*2

*3




-1
40 63
101 177 1,3,5- 224
227
2 7 102
310 266
-n- 270 (2- ) 272
-n- = 273
307 309
69 230
26 346
43
A 30 230
13 9
1% MSDS




(t/ )

(%)

14

12

(t/ )

13

(%)

13

12

JIS

(%)

VOC

11

12

14

(%)

13

14




4-3

(t/

A (s) (H)
1,835 21 1,391 179 6 6 2 36 212 214 73 9 36 553 4,573
236 146 43 5 416 4,853 802 2,206 2,229 4,500 4,531 0 81 1,855 21,903
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
30,826 20 5,555 2,478 163 52 34 429 221 0 3,750 1,352 37 133] 45,050
5,551 686 1,363 1,097 2,302 1,021 1,341| 10,537 7,700 237 252 3,438 66 665 36,256
8,988 4,226 25,605 1,101 739 41 1,322 8,230 1,719 32 780 3 145 438| 53,369
819 1,902 175 1[ 30,759 37 7,358 13,019 35,649 1,224 0 0 285 1,422] 92,650
5,724 959 520 271 11,917 0 191 53 1,017 14 30 0 19 403| 21,118
800 870 829 30 1 11 90 51 2,013 3 0 27 53 72 4,850
29,788 5,386 1,571 491 1,647 3,097 1,302 1,116 848 420 2,416 2,471 957 1,259| 52,769
1 2,250 0 0] 29,033 11 3,169 1,078 7,340 101 0 0] 1,391 424| 44,798
1,965 364 7,493| 12,460 3,324 98 978 1,365| 10,163 0 0 0 1,100 135] 39,445
8,586 258| 17,872 5,124 445 11 489 1,376 650 18 0 423 422 651| 36,325
31 0 4,733| 18,543 1 0 43 29 761 0 65 0 365 1,739] 26,310
2,050 1,834 60 0 458 0 2 250 162 1,449 76 4 1,227 527 8,099
22,519 9,010 3,248 7,815/ 13,923| 19,555 1,453 5,779 2,166] 17,239 0 32 3,474 2,789 109,002
1,774 2,628 131 189 729 2,896 170 721 1,109 4,955 0 0 873 874| 17,049
1,132 43 2,888 9,934 0 0 21 15 8 0 0 89 160 301] 14,591
7 12 684| 17,461 0 0 25 13 4 0 0 0] 543 0] 18,749
1,737 307 619 183 83 1 102 20 168 0 16 0 51 106 3,393
13,392 9,119 5,035 1,108 4,441 303 1,227 793| 27,829 2,615 346 323 4,614 3,815 74,960
10,557 1,086 297 411 62 0 1 21 28 18 0 0 0 26| 12,507
156,864 40,175 920 21 250 36 13 61 735 253 7,416 103 4,216 356/ 211,419
74,957 1,570 22 1 0 1 0 1 2 0 431 0 2,957 28| 79,970
27,248 2,857 955 0 0 292 12 38 10 195 220 77 125 14 32,043
3,284 6,710 1,576 1 199 2,889 27 176] 10,073 2 147 0 169 417| 25,670
5 1,104 0 0 1,299 0 212 65 1,103 0 0 0 0 122 3,910
972 65 68 114 202 1,049 10 122 261 230 0 0 0 1,778 4,871
0] 1,989 60 0] 2,407 0 319 114 2,652 0 0 0 427 49 8,017
597 696 8 0 662 8 63 64 779 4 0 0 92 8 2,981
0] 15,112 0 3| 79,746 0 2,158 1,221 2,417 0 0 0 8,325 1,157] 110,139
20 2,106 568 0 680 0 4,061 1,246 9,679 33 0] 46,509 150 5,126f 70,178
6,747 2,344 4,465 4,978 0 0 14 7 33 0 0 0 190 604| 19,382
15,294 3,799 1,520 1,437 5,087 108 131 758 1,872 677 3,653 1| 14,490 36,549 85,276
49,603| 14,413 6,103 10,382 38,974| 28,146 6,792 10,357| 14,768] 18,329 1,442 1,525 2,377 38,961 242,172
483,909| 134,067| 96,377| 95,818| 229,955| 64,522| 33,934| 61,367 146,380 52,762| 25,544| 56,386| 49,417| 103,356/ 1,633,794




A C Fx Fz
13
12 -4 13
a)
13
-5
b)
13
-6
c)
4-4 g 99.5% 100.5%
-4 13
H13 (t/
W X Y Z
A(=a) A a g a g ao Sag=a o*ad o*a o
B(=b) B b o b o b o Sho=b b ¢+b ¢
= C Co Co Co Sco=C o*C o*C o
(=d) A+B+C |d g=ayotbyotCxo  |dyo=ayotbyotCyo  [d0=8,010,01C0  [Sgo=d o+d otd o
H12 (e%) e OdeO/SdO eyozdyolsdo ezozdzolsdo 100%
H13 F% F F F 100%
=f/e O«w=F /e 0yo=Fy,/ey 0,0=F./€50
-5
H13 (t/
(t/ X Y Z
A(=a A a 1=ay0% Oxo dy1=8y0* Gyo 821=8;0% Jz0 Sa1=a jta jta
B(=b B b 1-byo* xo by1=byoX Gyo b,1=b,0% 070 Spi=b 1tb ;+b 4
C = C C 1=Cx0)< ng Cy1:Cy0>< gyO Czlzczox gzO Scl:C 1"'C 1+C 1
(=d) A+B+C |d jmagtbatCy  |dy=atbyitcCyr  [d1=8,410,44C,  [Sqi=d 4+d 4+d
H12 (e%) e 1:dX1/Sd1 ey]_:dyllsdl ezlzdzllsdl 100%
H13 F% F F F 100%
=f/e gxle /e 1 Oy1= Fy/eyl 021~ Fz/ezl




H13 (t/
W X Y Z
A(=a) A a maaX AfSa  |ayp=ayX AfSy  |ap=aX A/Sy  [Sipma ota ota,
B(=b) B b o=by1x B/Sp; |Dbyp=byiX B/Spy  [0,5=by1% B/Sp;  [Spp=b tb »+b 5
= C C 2:CX1X C/SCI Cyzzcylx C/SCI szzczlx C/SC]_ SC2:C 2+C 2+C 2
(=d) A+B+C |d y=mantheotC,  [dpo=antby,+Cy,  [d=a,010,01C,,  [Sg=d o+d o+d ,
H12 (e%) e 2:dx2/Sd2 eygzdyzlsdz ezzzdzzlsdz 100%
H13 F% F F F 100%
=f/e 0e=F /e, N RAY U:2=F,/€;
4-5
-7
H13 (/ (t/
(t/ X Y Z X Y Z
A(=a) 420 150 200 50 400 158 189 52 399
B(=b) 550 50 350 100 500 53 332 104 488
= 310 200 20 80 300 210 19 83 312
(=d) 1280 400 570 230 1200 420 540 240 1200
H12 (e%) 33% 48% 19% 100% 35% 45% 20% 100%
H13 F% 35% 45% 20% 100% 35% 45% 20% 100%
=f/e 105% 95% 104% 100% 100% 100%
-8
H13 (t/
(t/ X Y Z
A(=a) 420 166 199 55 420
B(=b) 550 59 373 118 550
= 310 208 19 83 310
(=d) 1280 433 592 255 1280
H12 (e%) 34% 46% 20% 100%
H13 F% 35% 45% 20% 100%
=f/e 103% 97% 100%




H13 (tv/
t/ X Y z
A(=a) 420 173 192 55 420
B(=Db) 550 63 367 120 550
= 310 211 18 81 310
(=d) 1280 447 577 256 1280
H12 (e%) 35% 45% 20% 100%
H13 F% 35% 45% 20% 100%
=f/e 100.3%| 99.8%| 100.0%
t/ )
13
-10
MSDS
1%
-11 -12 -13 -14
JIS
12 JIS



4-10

13
(t/
A (8) (H)
2,616 | 1,987 175 0 175 16 | 1,649 | 6,444 20% 10%
193 35 171 171 0 /14,656 [15,056 | 100%
6,070 | 6,070 6,070
31,309 [ 5,652 | 6,421 32| 6,389 | 1,715 | 3,963 | 49,059 25% 10%
5,119 | 1,259 392 35 357 | 3,959 |28,643 | 39,373 30% 20%
9,047 125,820 | 1,324 403 921 4 122,161 [ 58,356 20% 10%
646 138 0 0 | 88,754 {89,539
2,281 208 20 5 15 0| 6,535 [ 9,044 80% 20%
319 331 0 13| 1,414 | 2,077 80% 20%
30,308 | 1,601 | 4,144 | 2,287 | 1,857 | 3,140 (18,186 |57,379 60% 20%
1 0 0 0 |43,631 | 43,632 40% 30%
1 2,001 | 7,642 0 0 [33,225 | 42,868 40% 10%
2 8,742 | 18,228 0 538 11,970 [ 39,478 40% 10%
36 | 5,568 129 126 2 0 [26,402 | 32,135 10% 5%
1 2,859 84 179 12 167 7| 7,500 (10,628 70%
2 27,563 | 3,983 0 49 | 103,068 | 134,662 35% 20%
1,530 113 0 0[12,594 114,237
850 | 2,172 0 83 | 8,359 | 11,464 20% 10%
7 690 0 0 /19,361 | 20,058 5%
1,944 694 30 23 7 0] 1,302 | 3,970 20% 10%
13,505 | 5,086 588 457 131 407 | 58,404 [ 77,990 20% 10%
10,172 287 0 0] 1,617 (12,075
151,136 888 | 12,045 0 112,045 124 139,925 [204,119
72,220 21 700 0 700 0| 4,267 177,209
26,253 922 357 0 357 93 | 3,312 30,937
2,195 | 1,055 166 136 29 0 (13,575 |16,990
8 0 0 0| 6,483 | 6,490
650 46 0 0| 2,529 | 3,224
0 90 0 013,217 {13,308
1 575 8 0 0| 2,295 | 2,878
0 0 0 0 ]109,743 {109,743
26 731 0 74,600 [ 37,558 | 112,915
4,955 | 3,285 0 0| 6,032 {14,271 10%
25,870 | 2,576 {10,132 | 1,201 | 8,931 2 190,111 [128,691 40% 10%
86,557 [10,669 | 4,242 0| 4,242 | 3,323 |329,431 | 434,222
521,490 | 101,868 [ 47,285 | 10,788 | 36,497 [ 88,073 |1.171,874 | 1,930,590
1
2 VOC 5
3 13




4-11

40 63 101 | 177 | 224 | 227 | 270 | 272 | 273 | 266 26 69 230 | 346 43 30 227 63
1"
S <
‘.: |
i =
T
|
[Te}
o
— ©
A-8* 0.5% 2% 24%| 1.2% 0.1%| 0.4%| 0.0%]| 60%
A-5* 1% 0.6% 0.1%| 0.3%
A-6 7* 2.8% 9% 0.5% 3% 0.1%| 0.4% 26%
A-1 4 0.1% 1% 0.3% 0.0% 2.8%
A-12* 7% 6% 1% 0.1%| 0.3% 1.0% 80%
A-15 16 23| 1.3% 7% 0.2% 5% 1.3% 0.3% 16%| 12%
1 A-11 4% 25%
2 A-11 4% 25%
1
2 A-10* 2.0% 4% 0.3% 9% 0.1% 0.4%| 0.0% 15%
A-14
A-20 6.0%| 12% 8% 50%
A-21 5.0% 20% 10% 60%
A-17 0.5% 1.5%
A-18 0.5% 2.5%
A-22
1 A-9 1.0%
A-13
, 13
1 A-1 A-4 S-1 S-8 12 JIS
JIS NO.
2: 2
3
4 * 2.5%



4-12

40 63 101 | 177 | 224 | 227 | 270 | 272 | 273 | 266 26 69 230 | 346 43 30 227 63
n
| (\Il <
o '
[=
T
\
n
o
= ©
S-9* 10* 2% 0.6% 0.1%| 0.4%
-1 8 0.1% 1% 0.1% 0.1%| 6.6%
-20 2% 17% 0.2%| 2.0% 60%
-11* 12* 8.5%| 22% 2.5% 3% 0.1%| 0.4% 30%
1 -14* 15 21| 2.3% 9% 0.7% % 0.1%| 0.0%| 0.1% 1% 8%| 20%
2 14% 15 17 22 23 2.0% 7% 4%| 0.4% 4% 0.4%| 0.1%| 0.2%| 0.0% 8%| 10% 22%
-16 5.0% 12% % 3%| 75%
1
2 -19* 5.0% 12% 6% 0.1%| 0.4% 80%
-23 1% 20% 4% 2.0%| 0.5% 33%
-24 3.0%| 12% 5% 3%| 94%
-13* 6.0% 10% 3% 0.1%| 0.4% 50%
1
-22 3% 9% 5% 25%
, 13
1 A-1 A-4 S-1 S-8 12 JIS
JIS NO.
2: 2
3
4 * 2.5%




4-13

-10

40 63 101 | 177 | 224 | 227 | 270 | 272 | 273 | 266 26 69 230 | 346 | 43 30 227 63
"
\ & <
L 2
T \
i=
7
1
n
o
=l ©
-1
-4 7% 11% 23%| 0.5%
-10 3% 6% 0.5% 3%| 0.1%| 0.3%| 0.4%
-2 1% 1% 0.5%
-3 4% 4%
-6 21%| 23% 1.3%
1
2
1 -5 0.5% 2%
2
-7 3%
-8 9
1
-11
-12 5% 6% 1%
, 13
1 A-1 A-4 S-1 S-8 12 JIS
JIS NO.
2: 2
3
4 * 2.5%



4-14

40 | 63 | 101 | 177 | 224 | 227 | 270 | 272 | 273 | 266 | 26 | 69 | 230 | 346 | 43 | 30 227 63
/ 1
| ~ <
c ~
1 1
c
1
1
o
%)
— ©
JIS K 5665 1 2,539 0.3% 12%| 1.4%| 0.4%
JIS K 5665 1 508 0.3% 12%] 1.4%| 0.4%
JIS K 5665 1 605 10%| 1.4%| 0.2% 1.4%| 6%
JIS K 5665 2 2,892 0.5% 15%| 0.5%
JIS K 5665 2 1,056 0.5% 15%| 0.5%
JIS K 5665 2 228 14%| 0.6% 1.3%| 5.5%
JIS K 5665 3 92,297
JIS K 5665 3 11,430 0.2% 1%
111,555] - - - - - - - - - - - - - - - - - -
13 13

-11




VOC 5

4-10

13
-15
11 13
(. m3), 13
1 11 13
4111-01 76,278 . .
4111-02 54.453 140,731| 118,375| 109,052 92%| 129,647 73%
4112-0 2,856 . .
4112-02 50.122 52,978| 78,643| 69,851 89%| 47,055 27%
193,709] 193,709| 197,017 178,903 91%| 176,703 100%
14
14 12
4-16
-n- n- = 40%

-17

-12




-16

100% | - 100%
100% | - 100%
-n- - 40% 40%
-n- - 2% 2%
2- - 40% 40%
2- 2% 2%
n- - - 40% 40%
- 2% 2%
100% | - 100%
A - 2% 2%
13
-17
-n- 5% 30% 35%
2- 5% 30% 35%
JISK5665 3 - 18% 18%
- 30% 30%
-18
-18
14
12
(k) 2002
14

-13




-19

-14




*1
*2

*3:

*4

12

(%)
t/ ) t/ )*1
I I
% t/ )
| | t/ )*1 t/ )
I I
v
, , (% t/ )
[
A 4
t )
(%) ™) 3
A 4
/
A 4
/ *4
I
A 4
/4
I
A 4
/
I
\ 4
/
I
A
/

-15




13

(%)

100%

13




-2
250 2.3 167.4
304 0.7 0.04
63 696.5 1,157.1
13
321
=0.0336
=100%
-3 13

12







-1
/ 13
(%)
13
(%)
12
) 12
37%
13 37%

1%




13
=93
30%
-1
/ (%)
/ (%)
A
/
(%)
/




59

24

C=10 14

166

N,N-

251

307

308

309

13




-3
13
/
13
(%)
7-6
(%) 12
(%)
13
(%) vol.21,
1995
/
13 -4




-4 13
(t/
24 166 251 307 308 309
N,N-
-N-
LAS A0 pagy | B | opg) | (NPE)
31 169 1 1,091 0 o] 1,292
603 194 134] 1,548 36 252| 2,767
10,835 1,093 138| 5,064 61| 2,068 19,259
86,371 5214 392| 52,494 0 0| 144,471
97,840 6,670 665 60,197 97] 2,320 167,789
13
(%)
7-5
-5
100%
100%
100%
100%
100%
-6




14

13

(%)

(%)

(%)

C=10 14




24 C=10 14 | 96% , (MBAS)

N,N-

’ 0,
166 1 - “AO” 9% P&G(US)
251 _ 95% 22

= 2 7
307 Cc=12 15 98% ,
0,

308 . 9% 1 309
309 99%
1 vol.21, 1995
2 13
3 13




*1
*2

(%)

(%)

(%)

(%)

*1




-1
-1
! 14
(%)
(%)
14
%) 12
2-
13 1,703t
60.5% 13




(%)

(%)

(%)




p_
-1
-1
/
(%) 14
(%) 100%
14
5 13
20,000t/
(%)

90% 10%

=100%




-2
14
-1
P-
(%)
|
v
P-
(=100%)
| |
L 4
P-
|
v
P-






